國民小學     數學科  答案卷___年 ___班 座號：___ 姓名：__________
一、應用題
01.答案：143000×55％＝78650

答：78650　元
02.答案：4200000×42％＝1764000

答：1764000　元
03.答案：1－
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360°×
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＝90°

答：90　度
04.答案：396÷44％＝900

900×9％＝81

答：81　臺
05.答案：13÷26％＝50

2％÷20％＝0.1

答：(１)　50　人；(２)　0.1（或
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）倍
06.答案：36％－17％＝19％

600×19％＝114

答：114　人
07.答案：一天有　24　小時

24×30％＝7.2

8－7.2＝0.8

答：0.8　小時
08.答案：33％－17％＝16％

15000×16％＝2400

答：房租；交通費；2400　元
09.答案：100000×40％＝40000

40000×35％＝14000

答：14000　元
10.答案：100％－35％－10％－20％－10％＝25％

400×25％＝100

答：100　人
11.答案：100％－30％－40％－10％＝20％

4800÷30％＝16000

16000×20％＝3200

答：3200　元
12.答案：7000÷10％＝70000

70000×50％＝35000

答：35000　元
13.答案：12％÷30％＝0.4

36％÷30％＝1.2

答：0.4（或
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）倍；1.2（或
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）倍
14.答案：34％－22％＝12％

50×12％＝6

答：6　人
15.答案：32＋18＋12＋24＝86

羊：32÷86＝0.372…≒0.37＝37％

豬：18÷86＝0.209…≒0.21＝21％

馬：12÷86＝0.139…≒0.14＝14％

牛：24÷86＝0.279…≒0.28＝28％

答：羊：37％；豬：21％；馬：14％；牛：28％
16.答案：810÷15％＝5400

35％＋24％＝59％

5400×59％＝3186

答：3186　罐
17.答案：600×28％＝168

答：蔡秋玉；168　張
18.答案：8％＋15％＝23％

100×23％＝23

答：23　位
19.答案：28％＋32％＋6％＝66％

300×66％＝198

答：198　位
20.答案：34％－16％＝18％

150×18％＝27

答：27　人
21.答案：24×6％＝1.44

24×16％＝3.84

答：運動：1.44　小時；閱讀：3.84　小時
22.答案：4000－1280－1120－1040＝560

560÷4000＝0.14＝14％

答：14％
23.答案：
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＝30％，
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＝25％

100－30－25－10－15＝20

答：20％
24.答案：
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＝40％，
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＝25％

100－40－25－15＝20

答：20％
25.答案：500×10％＝50，500×30％＝150

50－35＝15，150＋15＝165

答：165　位
26.答案：360－180－72－36＝72

60×
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72

＝12

答：12　人
27.答案：16÷10％＝160

答：160　人
28.答案：2500×60％＝1500

答：1500　元
29.答案：14÷35％＝40

答：40　位
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